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[TPUMEP 53.2. Ilepexoda k noasprvim Koopdunamam, uluucAumsy f f yds

no obaacmu S, ozpanurennoti okpysdcrocmvio T2 + y* = 2r u ocvio Oa:

yA
2 2 2 - (P=const
4y =2x - x*-2x+y°=0— A—
T grarccos)
r?=2z+1+y =1— (z—1)2+y? = 1. AN

r=2cos ¢
IloapcTaBuB £ = rcos@ U Yy = rSin >
B ypaBHenue r2 + y? = 2z, & PN | _
MOJIyduM 72 = 27 cos ¢, OTKyJa 1 = 2 cos . 0 | 2 X
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/2 2c0s ¢
//yds = //('rsin @)rdrdy = /singodgo / ridr =
- S 0 0
/2 /2
— /—smcp|2cow %/8(:08399-sinc,9dg0 =
0
- 2((“4 L "2 = _g((oq“ T _ cos 0) = —%(0 —1)= %



